# EB-2022-0248: 1: Nima Chooback

COST CLAIM NUMBER SUBMISSION DEADLINE DATE

1665 October 06, 2023 Approved by Finance

EB# OTHER EB#S PHASE #\*

EB-2022-0248: Facilities: Leave to Construct

(New): Enbridge Gas Inc.

HST RATE ONTARIO

0.00

INTERVENOR INTERVENOR COMPANY\*
Chooback, Nima; +1 (613) 966-2620 Mohawks of the Bay of Quir

Chooback, Nima; +1 (613) 966-2620 Mohawks of the Bay of Quinte, nchooback@tmlegal.ca Tyendinaga Mohawk Territory:

Township/Municipality

EXCHANGE RATE COUNTRY

**CLAIM STATUS** 

INTERVENOR TYPE

Tax Exempt

Canada

HST NUMBER LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE

No

PART	<u>CIPANTS</u>				Participant
New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Total Hours	Claim Status
No	,	Van Winssen, Harold; +1 (613) 966-2620 hvanwinssen@tmlegal.ca	6,765.00	20.50	Submitted
No	,	Chooback, Nima; +1 (613) 966-2620 nchooback@tmlegal.ca	4,709.00	27.70	Submitted
No	,	Savini, Jennifer; +1 (613) 966-2620 jsavini@tmlegal.ca	58.00	0.20	Submitted
No	,	Levesque, Kennedy; +1 (613) 966-2620 x.2103 klevesque@tmlegal.ca	70.00	0.70	Submitted

## **ATTACHMENTS**

Attachment	Document Type	Import Message
MBQ EB-2022-0248 Cost Claim 100220231537.pdf		
MAT57658.pdf	Time	
	Docket	

TOTAL LEGAL/CONSULTANT/OTHER FEES 11.602.00

TOTAL DISBURSEMENTS 0.00

TOTAL HST 0.00

TOTAL CLAIM 11,602.00 TOTAL AMOUNT AWARDED

TOTAL HOURS CLAIMED

49.10

TOTAL HOURS DISALLOWED

REASON FOR REASON FOR REASON FOR DISALLOWANCE - 2 DISALLOWANCE - 3

MAKE CHEQUE PAYABLE TO Templeman LLP

SEND PAYMENT TO ADDRESS ATTENTION

205 Dundas St E #200, Belleville, Ontario, K8N 5A2 Harold Van Winssen

#### SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY

Nima Chooback

DATE SUBMITTED

October 02, 2023

**CASE** 

EB-2022-0248: Facilities: Leave to Construct (New): Enbridge Gas

Inc.

**COST CLAIM** 

EB-2022-0248:1: Nima

Chooback

**INTERVENOR NAME** 

Chooback, Nima; +1 (613)

966-2620

nchooback@tmlegal.ca

**PARTICIPANT CLAIM STATUS** 

Submitted

FILING PARTICIPANT

Van Winssen, Harold; +1 (613)

966-2620

hvanwinssen@tmlegal.ca

NEW

**PARTICIPANT** 

**NON-FILING** 

PARTICIPANT F. NAME

**NON-FILING** 

PARTICIPANT L. NAME

**SERVICE PROVIDER TYPE\*** 

Legal Counsel

YEAR CALLED TO BAR\*

1983

**COMPLETED YEARS** 

PRACTICING/YEARS OF **RELEVANT EXPERIENCE\*** 

40

**HST RATE CHARGED\*** 

0.00

**CV STATUS (FOR CONSULTANT/ANALYST)** 

CV Required

LAST CV DATE

**OVERRIDE** 

**HOURLY RATE** 

330

**HOURLY RATE** 

No

**HST NUMBER** 

**HEARINGS** 

Yes

**CONSULTATIONS** 

No

**DISBURSEMENTS** 

No

**HEARINGS** 

**Hearings Hours** Hearings Subtotal (\$) **Hearings Total Tax (\$)** Hearings Total (\$) 20.50 6,765.00 0.00 6,765.00

<u>Nam</u>	<u>e</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
	PPLICATION AND EVIDENCE ew Application and Evidence	2.00	330	660.00	0.00		660.00
<b>DISCOVER</b> Prep	Y aration of Interrogatories		330		0.00		
Revi	ew Interrogatory Responses	4.00	330	1,320.00	0.00		1,320.00
Tech	nical Conference Preparation		330		0.00		
Tech	nical Conference Attendance		330		0.00		
Tech	nical Conference Follow Up		330		0.00		
ISSUES LIS	ST aration		330		0.00		
Atter	ndance at Issues Conference		330		0.00		
Prep	OR EVIDENCE aration		330		0.00		
Inter	rogatory Responses		330		0.00		
at He	aration of Witness(es) for Attendance earing		330		0.00		
	aration		330		0.00		
Atter	ndance		330		0.00		

	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
	Preparation of Settlement Proposal		330		0.00		
	Attendance at Presentation to Panel		330		0.00		
ORAI	L <b>HEARING</b> Preparation		330		0.00		
	Attendance at Oral Hearing		330		0.00		
SUBI	MISSIONS Written Submissions	6.80	330	2,244.00	0.00		2,244.00
	Oral Submissions		330		0.00		
	Attendance at Oral Submissions		330		0.00		
OTHE	ER ATTENDANCE Other Attendance		330		0.00		
СОМ	MUNICATION With Client	3.90	330	1,287.00	0.00		1,287.00
	With Other Parties	2.60	330	858.00	0.00		858.00
MOTI	ONS Preparation of Motion(s) Materials		330		0.00		
	Prepare Submissions on the Motion(s)		330		0.00		
	Attendance at Hearing on Motion(s)		330		0.00		
CONI	FIDENTIALITY Preparation of Application for Confidentiality		330		0.00		
	Prepare Submissions on Confidentiality		330		0.00		
	Attendance at Hearing on Confidentiality		330		0.00		
DECI	SION Review	1.20	330	396.00	0.00		396.00
RATE	E ORDER Review		330		0.00		
	Prepare Submission on Rate Order		330		0.00		
TOTA	L SERVICE PROVIDER FEES Total Service Provider Fees:	20.50		6,765.00		0.00	6,765.00

**Attachments** 

<u>Attachment</u> <u>Document Type</u> <u>Import Message</u>

MAT57658.pdf Time Docket

Hearings, Consultations, Disbursements Attachments

<u>Attachment Document Type Claim Type Import Message</u>

MAT57658.pdf Time Docket Hearings

## **Matter Billing Guide**

## for Templeman LLP

#### as at 02 Oct 2023

# TEMPLEMAN

## Filtered by Matter - MAT57658

## **Excluding Pre-Bill Items**

Matter No.: MAT57658

Ontario Energy Board / Enbridge Gas

Description: -

Matter Name:

Client: MOHAWKS OF THE BAY OF QUINTE

0.00

Address: 24 MEADOW DRIVE

TYENDINAGA MOHAWK TERRITORY

TYENDINAGA, ON

Att: - K0K 1X0

Client Ref:

Client Tax No.: N/A

**Trust:** 0.00 **Reserve Trust:** 0.00

Investment: 0.00

Last Invoice Date: -

Transfer Notes:

A/R:

Client No.: CNT4160

**Department:** Corporate Commercial

Owner: Harold Van Winssen

Current Owner: Harold Van Winssen

Legacy Ref: -

Date Opened: 28 Mar 23

Fee Schedule: -

Invoice Template: Standard Billing Plan (1)

Discount: 0.00%

Unbilled Fees: 16,657.50

Unbillable Fees: 0.00
Unbilled Disb: 0.00

Unbilled Time: 51.60

Unbillable Time: 0.00

Last Billable Date: 02 Oct 23

Discount Notes:

#### Fee Earner Summary

Code	Fee Earner	Time (hh)	Fees	Write U/D	Notes
7	Harold Van Winssen	20.50	10,147.50		
137	Jennifer G. Savini	0.20	63.00		
300	Kennedy Levesque	0.70	105.00		
295	Nima Chooback	30.20	6,342.00		

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
28 Mar 23	7	BW	Review materials, process re: intervention. Telephone call with Enbridge, email client.	Т	-	495.00	1.10	544.50	0.00	544.50
28 Mar 23	7	BW	Telephone call with client and pull and review submissions etc.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Complete review of intervenors, discuss potential evidence and relevance with client and recommendations regarding offer etc.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Review email and draft letter and telephone call with client to discuss and draft letter of intent. Review and revise letter.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Review new order and respond regarding email and procedural order.	Т	-	495.00	0.30	148.50	0.00	148.50
29 Mar 23	7	BW	Review further materials.	Т	-	495.00	0.10	49.50	0.00	49.50

Client No.:

CNT4160

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
29 Mar 23	7	BW	Review email and Environmental Defence respond and email Mr. Elson.	Т	-	495.00	0.30	148.50	0.00	148.50
29 Mar 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
29 Mar 23	295	BW	Received instructions Re: preparation of internal memo	Т	-	210.00	0.20	42.00	0.00	42.00
30 Mar 23	7	BW	Telephone call with client to discuss issues re: Environmental.	Т	-	495.00	0.40	198.00	0.00	198.00
30 Mar 23	7	BW	Prepare for, participate in call with counsel for Environmental Defences and debrief client.	T	-	495.00	0.90	445.50	0.00	445.50
31 Mar 23	137	-	Preliminary review and consideration of issues relating to duty to consult and remedies relating to same	T	-	315.00	0.20	63.00	0.00	63.00
03 Apr 23	295	BW	Preliminary review of legal issue in preparation for legal memo	Т	-	210.00	0.60	126.00	0.00	126.00
04 Apr 23	7	BW	Review and respond to email.	T	-	495.00	0.10	49.50	0.00	49.50
05 Apr 23	7	BW	Review written interrogations of Environment Defence.	T	-	495.00	1.40	693.00	0.00	693.00
05 Apr 23	300	-	Conduct research on the practices and procedures of OEB. Analyze procedural orders and impact on current status and discuss impact with counsel for preparation of legal memo.	Т	-	150.00	0.70	105.00	0.00	105.00
05 Apr 23	295	BW	Further research and consideration of procedural options in contesting the relevance of intervenors' objections	T	-	210.00	1.50	315.00	0.00	315.00
06 Apr 23	7	BW	Review procurement options regarding Environmental Defence issue and duty to consult.	T	-	495.00	0.80	396.00	0.00	396.00
06 Apr 23	295	BW	Consideration of forthcoming procedural steps and potential strategies	T	-	210.00	0.50	105.00	0.00	105.00
11 Apr 23	7	BW	Review interrogators documents.	Т	-	495.00	0.30	148.50	0.00	148.50
11 Apr 23	295	BW	Review of interrogation of Pollution Probe	T	-	210.00	0.30	63.00	0.00	63.00
11 Apr 23	295	-	Review of interrogation of FRPO	Т	-	210.00	0.20	42.00	0.00	42.00
12 Apr 23	7	BW	Review pollution probe interrogation.	Т	-	495.00	0.40	198.00	0.00	198.00
17 Apr 23	7	BW	Review OEB decision.	Т	-	495.00	0.20	99.00	0.00	99.00
20 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
21 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
28 Apr 23	7	BW	Review notice of return from Environmental Deficiencies and review further interrogations and discuss options and possible objection to motion.	Т	-	495.00	0.50	247.50	0.00	247.50
04 May 23	7	BW	Review pollution probe documents.	T	-	495.00	0.10	49.50	0.00	49.50
29 May 23	7	BW	Review latest order and status of interrogations etc.; participate in meeting with client.	T	-	495.00	0.50	247.50	0.00	247.50
08 Jun 23	7	BW	Review request from Environmental Defense.	T	-	495.00	0.20	99.00	0.00	99.00
28 Jun 23	7	BW	Review latest procedural order and implications; email client.	Т	-	495.00	0.30	148.50	0.00	148.50
10 Jul 23	7	BW	Review further materials and information.	Т	-	495.00	0.30	148.50	0.00	148.50
10 Jul 23	7	BW	Review further order from OEB.	Т	-	495.00	0.10	49.50	0.00	49.50
11 Jul 23	7	BW	Review orders from OEB.	Т	-	495.00	0.20	99.00	0.00	99.00
13 Jul 23	7	BW	Review various emails and options.	Т	-	495.00	0.20	99.00	0.00	99.00
13 Jul 23	7	BW	Review and respond to various email and respond.	Т	-	495.00	0.30	148.50	0.00	148.50
14 Jul 23	7	BW	Review latest procedural issue.	Т	-	495.00	0.20	99.00	0.00	99.00

Client No.:

CNT4160

**Unbilled Fees** 

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
19 Jul 23	295	BW	Receiving of instructions on submission preparation	T	-	210.00	0.20	42.00	0.00	42.00
19 Jul 23	295	BW	Review of procedural status and required work.	Т	-	210.00	1.20	252.00	0.00	252.00
19 Jul 23	7	BW	Work on agreements for OEB.	Т	-	495.00	0.50	247.50	0.00	247.50
20 Jul 23	295	BW	Case law research regarding the notice of constitutional question	Т	-	210.00	0.70	147.00	0.00	147.00
20 Jul 23	295	BW	Preparation of material for the notice of constitutional question	T	-	210.00	0.80	168.00	0.00	168.00
21 Jul 23	295	BW	Research and drafting of submissions	Т	-	210.00	2.50	525.00	0.00	525.00
26 Jul 23	7	BW	Review legal issues re: duty to consult and degree of deference to be paid to duty.	T	-	495.00	1.00	495.00	0.00	495.00
31 Jul 23	7	BW	Review arguments in draft by Enbridge Gas.	Т	-	495.00	1.00	495.00	0.00	495.00
31 Jul 23	7	BW	Work on submissions re: duty to consult.	Т	-	495.00	0.70	346.50	0.00	346.50
31 Jul 23	7	BW	Review issue re: public content.	Т	-	495.00	0.50	247.50	0.00	247.50
31 Jul 23	295	BW	Review of Enbridge argument in chief	Т	-	210.00	0.50	105.00	0.00	105.00
31 Jul 23	295	BW	Continued drafting of submissions	Т	-	210.00	1.60	336.00	0.00	336.00
31 Jul 23	295	BW	Received instructions to revise draft submissions. Further research and drafting for new submissions	T	-	210.00	3.00	630.00	0.00	630.00
01 Aug 23	295	BW	Drafting of submissions continued	Т	-	210.00	4.40	924.00	0.00	924.00
02 Aug 23	7	BW	Work on reply.	Т	-	495.00	1.00	495.00	0.00	495.00
02 Aug 23	295	BW	Revisions to draft submissions per instructions	Т	-	210.00	1.10	231.00	30.03	261.03
08 Aug 23	295	BW	review and editing of MBQ written submissions	Т	-	210.00	0.50	105.00	0.00	105.00
08 Aug 23	7	BW	Work on submission.	Т	-	495.00	0.50	247.50	0.00	247.50
08 Aug 23	7	BW	Review and revise submission.	T	-	495.00	0.20	99.00	0.00	99.00
08 Aug 23	295	BW	Review of Pollution Probe's submissions	T	-	210.00	0.40	84.00	0.00	84.00
09 Aug 23	295	BW	Drafting of cover letter and getting access to eportal to submit	T	-	210.00	0.60	126.00	0.00	126.00
09 Aug 23	295	BW	Finalization of submissions and service on all parties	T	-	210.00	0.40	84.00	0.00	84.00
09 Aug 23	7	BW	Work on submission.	Т	-	495.00	0.80	396.00	0.00	396.00
09 Aug 23	7	BW	Review and revise application; forward to client for review.	Т	-	495.00	0.30	148.50	0.00	148.50
09 Aug 23	7	BW	Review and respond to emails from client; amend materials re: submission.	T	-	495.00		148.50	0.00	148.50
09 Aug 23	7	BW	Review staff submission.	T	-	495.00	0.30	148.50	0.00	148.50
09 Aug 23 09 Aug 23	7 295	BW BW	Review and respond to email.  Review and consideration of OEB	T T	-	495.00 210.00		49.50 147.00	0.00	49.50 147.00
			staff submissions.							
20 Sep 23	7	BW	Review further submission.	T _	-	495.00		148.50	0.00	148.50
20 Sep 23	295	BW	Review of additional submissions filed and confirmation of next steps	Т	-	210.00		105.00	0.00	105.00
20 Sep 23	295	BW	Correspondence and coordination with OEB staff and IT regarding submitting of costs through their portal.	Т	-	210.00	1.00	210.00	0.00	210.00
21 Sep 23	7	BW	Review decision and forward to client.	Т	-	495.00	0.30	148.50	0.00	148.50
21 Sep 23	295	BW	Review of Board decision and cost award rules and procedures	Т	-	210.00	1.50	315.00	0.00	315.00
25 Sep 23	7	BW	Review issue re: tax status.	Т	-	495.00	0.20	99.00	0.00	99.00
25 Sep 23	295	BW	Correspondence with client Re: HST designation	Т	-	210.00	0.30	63.00	0.00	63.00

GhostPractice version 14.0.118

 Matter No.:
 MAT57658
 Client No.:
 CNT4160

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
26 Sep 23	295	BW	Confirmation of HST designation and correspondence with the OEB regarding same and training to submit cost claims	Т	-	210.00	0.50	105.00	0.00	105.00
27 Sep 23	295	BW	Review of Environmental Defence's request to set a schedule for submissions in	Т	-	210.00	1.50	315.00	0.00	315.00
29 Sep 23	295	BW	Cost submission training with OEB staff	T	-	210.00	0.70	147.00	0.00	147.00
29 Sep 23	295	BW	Initial work on preparing cost submissions	T	-	210.00	0.80	168.00	0.00	168.00
02 Oct 23	295	BW	Preparation of cost claims	Т	-	210.00	1.50	315.00	0.00	315.00
						Total Unbilled Fees	51.60	16,657.50	30.03	16,687.53

**CASE** 

EB-2022-0248: Facilities: Leave to Construct (New): Enbridge Gas

Inc.

**COST CLAIM** 

EB-2022-0248 : 1 : Nima

Chooback

INTERVENOR NAME

Chooback, Nima; +1 (613)

966-2620

nchooback@tmlegal.ca

PARTICIPANT CLAIM STATUS

Submitted

**FILING PARTICIPANT** 

Chooback, Nima; +1 (613) 966-2620 nchooback@tmlegal.ca NEW

**PARTICIPANT** 

Nο

**NON-FILING** 

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

**SERVICE PROVIDER TYPE\*** 

Legal Counsel

YEAR CALLED TO BAR\*

2022

COMPLETED YEARS
PRACTICING/YEARS OF
RELEVANT EXPERIENCE\*

1

**HST RATE CHARGED\*** 

0.00

CV STATUS (FOR CONSULTANT/ANALYST)

**CV** Required

LAST CV DATE

OVERRIDE

**HOURLY RATE** 

170

**HOURLY RATE** No

**HST NUMBER** 

**HEARINGS** 

Yes

**CONSULTATIONS** 

No

**DISBURSEMENTS** 

No

**HEARINGS** 

Hearings Hours Hearings Subtotal (\$) Hearings Subtotal (\$) Hearings Subtotal (\$)

Hearings Total Tax (\$) 0.00 Hearings Total (\$) 4,709.00

**HST** Name **Hourly** Sub Total <u>HST</u> Total Hours Rate Rate **REVIEW APPLICATION AND EVIDENCE** Review Application and Evidence 0.60 170 102.00 0.00 102.00 **DISCOVERY** Preparation of Interrogatories 170 0.00 **Review Interrogatory Responses** 2.00 170 340.00 0.00 340.00 0.00 **Technical Conference Preparation** 170 0.00 **Technical Conference Attendance** 170 Technical Conference Follow Up 170 0.00 **ISSUES LIST** 170 0.00 Preparation Attendance at Issues Conference 170 0.00 INTERVENOR EVIDENCE Preparation 0.40 170 68.00 0.00 68.00 0.00 170 Interrogatory Responses 0.00 Preparation of Witness(es) for Attendance 170 at Hearing **SETTELEMENT CONFERENCE / ADR** Preparation 170 0.00 0.00 Attendance 170

	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
	Preparation of Settlement Proposal		170		0.00		
	Attendance at Presentation to Panel		170		0.00		
ORAI	L <b>HEARING</b> Preparation		170		0.00		
	Attendance at Oral Hearing		170		0.00		
SUBI	MISSIONS Written Submissions	20.60	170	3,502.00	0.00		3,502.00
	Oral Submissions		170		0.00		
	Attendance at Oral Submissions		170		0.00		
OTHE	ER ATTENDANCE Other Attendance		170		0.00		
СОМ	MUNICATION With Client	0.80	170	136.00	0.00		136.00
	With Other Parties	0.60	170	102.00	0.00		102.00
MOTI	ONS Preparation of Motion(s) Materials		170		0.00		
	Prepare Submissions on the Motion(s)		170		0.00		
	Attendance at Hearing on Motion(s)		170		0.00		
CONI	FIDENTIALITY Preparation of Application for Confidentiality		170		0.00		
	Prepare Submissions on Confidentiality		170		0.00		
	Attendance at Hearing on Confidentiality		170		0.00		
DECI	SION Review	2.70	170	459.00	0.00		459.00
RATE	CORDER Review		170		0.00		
	Prepare Submission on Rate Order		170		0.00		
TOTA	AL SERVICE PROVIDER FEES Total Service Provider Fees:	27.70		4,709.00		0.00	4,709.00

**Attachments** 

<u>Attachment</u> <u>Document Type</u> <u>Import Message</u>

MAT57658.pdf Time Docket

Hearings, Consultations, Disbursements Attachments

<u>Attachment Document Type Claim Type Import Message</u>

MAT57658.pdf Time Docket Hearings

## **Matter Billing Guide**

## for Templeman LLP

#### as at 02 Oct 2023

# TEMPLEMAN

## Filtered by Matter - MAT57658

## **Excluding Pre-Bill Items**

Matter No.: MAT57658

Ontario Energy Board / Enbridge Gas

Description: -

Matter Name:

Client: MOHAWKS OF THE BAY OF QUINTE

0.00

Address: 24 MEADOW DRIVE

TYENDINAGA MOHAWK TERRITORY

TYENDINAGA, ON

Att: - K0K 1X0

Client Ref:

Client Tax No.: N/A

**Trust:** 0.00 **Reserve Trust:** 0.00

Investment: 0.00

Last Invoice Date: -

Transfer Notes:

A/R:

Client No.: CNT4160

**Department:** Corporate Commercial

Owner: Harold Van Winssen

Current Owner: Harold Van Winssen

Legacy Ref: -

Date Opened: 28 Mar 23

Fee Schedule: -

Invoice Template: Standard Billing Plan (1)

Discount: 0.00%

Unbilled Fees: 16,657.50

Unbillable Fees: 0.00
Unbilled Disb: 0.00

Unbilled Time: 51.60

Unbillable Time: 0.00

Last Billable Date: 02 Oct 23

Discount Notes:

#### Fee Earner Summary

Code	Fee Earner	Time (hh)	Fees	Write U/D	Notes
7	Harold Van Winssen	20.50	10,147.50		
137	Jennifer G. Savini	0.20	63.00		
300	Kennedy Levesque	0.70	105.00		
295	Nima Chooback	30.20	6,342.00		

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
28 Mar 23	7	BW	Review materials, process re: intervention. Telephone call with Enbridge, email client.	Т	-	495.00	1.10	544.50	0.00	544.50
28 Mar 23	7	BW	Telephone call with client and pull and review submissions etc.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Complete review of intervenors, discuss potential evidence and relevance with client and recommendations regarding offer etc.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Review email and draft letter and telephone call with client to discuss and draft letter of intent. Review and revise letter.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Review new order and respond regarding email and procedural order.	Т	-	495.00	0.30	148.50	0.00	148.50
29 Mar 23	7	BW	Review further materials.	Т	-	495.00	0.10	49.50	0.00	49.50

Client No.:

CNT4160

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
29 Mar 23	7	BW	Review email and Environmental Defence respond and email Mr. Elson.	Т	-	495.00	0.30	148.50	0.00	148.50
29 Mar 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
29 Mar 23	295	BW	Received instructions Re: preparation of internal memo	Т	-	210.00	0.20	42.00	0.00	42.00
30 Mar 23	7	BW	Telephone call with client to discuss issues re: Environmental.	Т	-	495.00	0.40	198.00	0.00	198.00
30 Mar 23	7	BW	Prepare for, participate in call with counsel for Environmental Defences and debrief client.	T	-	495.00	0.90	445.50	0.00	445.50
31 Mar 23	137	-	Preliminary review and consideration of issues relating to duty to consult and remedies relating to same	T	-	315.00	0.20	63.00	0.00	63.00
03 Apr 23	295	BW	Preliminary review of legal issue in preparation for legal memo	Т	-	210.00	0.60	126.00	0.00	126.00
04 Apr 23	7	BW	Review and respond to email.	T	-	495.00	0.10	49.50	0.00	49.50
05 Apr 23	7	BW	Review written interrogations of Environment Defence.	T	-	495.00	1.40	693.00	0.00	693.00
05 Apr 23	300	-	Conduct research on the practices and procedures of OEB. Analyze procedural orders and impact on current status and discuss impact with counsel for preparation of legal memo.	Т	-	150.00	0.70	105.00	0.00	105.00
05 Apr 23	295	BW	Further research and consideration of procedural options in contesting the relevance of intervenors' objections	T	-	210.00	1.50	315.00	0.00	315.00
06 Apr 23	7	BW	Review procurement options regarding Environmental Defence issue and duty to consult.	T	-	495.00	0.80	396.00	0.00	396.00
06 Apr 23	295	BW	Consideration of forthcoming procedural steps and potential strategies	T	-	210.00	0.50	105.00	0.00	105.00
11 Apr 23	7	BW	Review interrogators documents.	Т	-	495.00	0.30	148.50	0.00	148.50
11 Apr 23	295	BW	Review of interrogation of Pollution Probe	T	-	210.00	0.30	63.00	0.00	63.00
11 Apr 23	295	-	Review of interrogation of FRPO	Т	-	210.00	0.20	42.00	0.00	42.00
12 Apr 23	7	BW	Review pollution probe interrogation.	Т	-	495.00	0.40	198.00	0.00	198.00
17 Apr 23	7	BW	Review OEB decision.	Т	-	495.00	0.20	99.00	0.00	99.00
20 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
21 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
28 Apr 23	7	BW	Review notice of return from Environmental Deficiencies and review further interrogations and discuss options and possible objection to motion.	Т	-	495.00	0.50	247.50	0.00	247.50
04 May 23	7	BW	Review pollution probe documents.	T	-	495.00	0.10	49.50	0.00	49.50
29 May 23	7	BW	Review latest order and status of interrogations etc.; participate in meeting with client.	T	-	495.00	0.50	247.50	0.00	247.50
08 Jun 23	7	BW	Review request from Environmental Defense.	T	-	495.00	0.20	99.00	0.00	99.00
28 Jun 23	7	BW	Review latest procedural order and implications; email client.	Т	-	495.00	0.30	148.50	0.00	148.50
10 Jul 23	7	BW	Review further materials and information.	Т	-	495.00	0.30	148.50	0.00	148.50
10 Jul 23	7	BW	Review further order from OEB.	Т	-	495.00	0.10	49.50	0.00	49.50
11 Jul 23	7	BW	Review orders from OEB.	Т	-	495.00	0.20	99.00	0.00	99.00
13 Jul 23	7	BW	Review various emails and options.	Т	-	495.00	0.20	99.00	0.00	99.00
13 Jul 23	7	BW	Review and respond to various email and respond.	Т	-	495.00	0.30	148.50	0.00	148.50
14 Jul 23	7	BW	Review latest procedural issue.	Т	-	495.00	0.20	99.00	0.00	99.00

Client No.:

CNT4160

**Unbilled Fees** 

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
19 Jul 23	295	BW	Receiving of instructions on submission preparation	T	-	210.00	0.20	42.00	0.00	42.00
19 Jul 23	295	BW	Review of procedural status and required work.	Т	-	210.00	1.20	252.00	0.00	252.00
19 Jul 23	7	BW	Work on agreements for OEB.	Т	-	495.00	0.50	247.50	0.00	247.50
20 Jul 23	295	BW	Case law research regarding the notice of constitutional question	Т	-	210.00	0.70	147.00	0.00	147.00
20 Jul 23	295	BW	Preparation of material for the notice of constitutional question	T	-	210.00	0.80	168.00	0.00	168.00
21 Jul 23	295	BW	Research and drafting of submissions	Т	-	210.00	2.50	525.00	0.00	525.00
26 Jul 23	7	BW	Review legal issues re: duty to consult and degree of deference to be paid to duty.	T	-	495.00	1.00	495.00	0.00	495.00
31 Jul 23	7	BW	Review arguments in draft by Enbridge Gas.	Т	-	495.00	1.00	495.00	0.00	495.00
31 Jul 23	7	BW	Work on submissions re: duty to consult.	Т	-	495.00	0.70	346.50	0.00	346.50
31 Jul 23	7	BW	Review issue re: public content.	Т	-	495.00	0.50	247.50	0.00	247.50
31 Jul 23	295	BW	Review of Enbridge argument in chief	Т	-	210.00	0.50	105.00	0.00	105.00
31 Jul 23	295	BW	Continued drafting of submissions	Т	-	210.00	1.60	336.00	0.00	336.00
31 Jul 23	295	BW	Received instructions to revise draft submissions. Further research and drafting for new submissions	T	-	210.00	3.00	630.00	0.00	630.00
01 Aug 23	295	BW	Drafting of submissions continued	Т	-	210.00	4.40	924.00	0.00	924.00
02 Aug 23	7	BW	Work on reply.	Т	-	495.00	1.00	495.00	0.00	495.00
02 Aug 23	295	BW	Revisions to draft submissions per instructions	Т	-	210.00	1.10	231.00	30.03	261.03
08 Aug 23	295	BW	review and editing of MBQ written submissions	Т	-	210.00	0.50	105.00	0.00	105.00
08 Aug 23	7	BW	Work on submission.	Т	-	495.00	0.50	247.50	0.00	247.50
08 Aug 23	7	BW	Review and revise submission.	T	-	495.00	0.20	99.00	0.00	99.00
08 Aug 23	295	BW	Review of Pollution Probe's submissions	T	-	210.00	0.40	84.00	0.00	84.00
09 Aug 23	295	BW	Drafting of cover letter and getting access to eportal to submit	T	-	210.00	0.60	126.00	0.00	126.00
09 Aug 23	295	BW	Finalization of submissions and service on all parties	T	-	210.00	0.40	84.00	0.00	84.00
09 Aug 23	7	BW	Work on submission.	Т	-	495.00	0.80	396.00	0.00	396.00
09 Aug 23	7	BW	Review and revise application; forward to client for review.	T	-	495.00	0.30	148.50	0.00	148.50
09 Aug 23	7	BW	Review and respond to emails from client; amend materials re: submission.	T	-	495.00		148.50	0.00	148.50
09 Aug 23	7	BW	Review staff submission.	T	-	495.00	0.30	148.50	0.00	148.50
09 Aug 23 09 Aug 23	7 295	BW BW	Review and respond to email.  Review and consideration of OEB	T T	-	495.00 210.00		49.50 147.00	0.00	49.50 147.00
			staff submissions.							
20 Sep 23	7	BW	Review further submission.	T _	-	495.00		148.50	0.00	148.50
20 Sep 23	295	BW	Review of additional submissions filed and confirmation of next steps	Т	-	210.00		105.00	0.00	105.00
20 Sep 23	295	BW	Correspondence and coordination with OEB staff and IT regarding submitting of costs through their portal.	Т	-	210.00	1.00	210.00	0.00	210.00
21 Sep 23	7	BW	Review decision and forward to client.	Т	-	495.00	0.30	148.50	0.00	148.50
21 Sep 23	295	BW	Review of Board decision and cost award rules and procedures	Т	-	210.00	1.50	315.00	0.00	315.00
25 Sep 23	7	BW	Review issue re: tax status.	Т	-	495.00	0.20	99.00	0.00	99.00
25 Sep 23	295	BW	Correspondence with client Re: HST designation	Т	-	210.00	0.30	63.00	0.00	63.00

GhostPractice version 14.0.118

 Matter No.:
 MAT57658
 Client No.:
 CNT4160

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
26 Sep 23	295	BW	Confirmation of HST designation and correspondence with the OEB regarding same and training to submit cost claims	Т	-	210.00	0.50	105.00	0.00	105.00
27 Sep 23	295	BW	Review of Environmental Defence's request to set a schedule for submissions in	Т	-	210.00	1.50	315.00	0.00	315.00
29 Sep 23	295	BW	Cost submission training with OEB staff	T	-	210.00	0.70	147.00	0.00	147.00
29 Sep 23	295	BW	Initial work on preparing cost submissions	T	-	210.00	0.80	168.00	0.00	168.00
02 Oct 23	295	BW	Preparation of cost claims	Т	-	210.00	1.50	315.00	0.00	315.00
						Total Unbilled Fees	51.60	16,657.50	30.03	16,687.53

CASE
EB-2022-0248: Facilities: Leave
to Construct (New): Enbridge Gas

Inc.

**COST CLAIM** 

EB-2022-0248 : 1 : Nima

Chooback

INTERVENOR NAME

Chooback, Nima; +1 (613)

966-2620

nchooback@tmlegal.ca

PARTICIPANT CLAIM STATUS

Submitted

FILING PARTICIPANT

Savini, Jennifer; +1 (613) 966-2620 jsavini@tmlegal.ca

NEW PARTICIPANT

NON-FILING

PARTICIPANT F. NAME

**NON-FILING** 

PARTICIPANT L. NAME

**SERVICE PROVIDER TYPE\*** 

Legal Counsel

YEAR CALLED TO BAR\*

2009

COMPLETED YEARS
PRACTICING/YEARS OF

RELEVANT EXPERIENCE\*

14

**HST RATE CHARGED\*** 

0.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Required

LAST CV DATE

OVERRIDE HOURLY RATE

**HOURLY RATE** 

290

No

**HST NUMBER** 

**HEARINGS** 

Yes

**CONSULTATIONS** 

No

**DISBURSEMENTS** 

No

**HEARINGS** 

Hearings HoursHearings Subtotal (\$)Hearings Total Tax (\$)Hearings Total (\$)0.2058.000.0058.00

Nam <u>e</u>	<u>Hours</u>	Hourly	Sub Total	<u>HST</u>	HST	Total
<del>idanie</del>	110013	Rate	<u>oub rotur</u>	Rate	<u>1101</u>	<u>10tai</u>
REVIEW APPLICATION AND EVIDENCE Review Application and Evidence	0.20	290	58.00	0.00		58.00
DISCOVERY						
Preparation of Interrogatories		290		0.00		
Review Interrogatory Responses		290		0.00		
Technical Conference Preparation		290		0.00		
Technical Conference Attendance		290		0.00		
Technical Conference Follow Up		290		0.00		
ISSUES LIST						
Preparation		290		0.00		
Attendance at Issues Conference		290		0.00		
INTERVENOR EVIDENCE						
Preparation		290		0.00		
Interrogatory Responses		290		0.00		
Preparation of Witness(es) for Attendance		290		0.00		
at Hearing SETTELEMENT CONFERENCE / ADR						
Preparation		290		0.00		
Attendance		290		0.00		

	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
	Preparation of Settlement Proposal		290		0.00		
	Attendance at Presentation to Panel		290		0.00		
ORA	L HEARING Preparation		290		0.00		
	Attendance at Oral Hearing		290		0.00		
SUBI	MISSIONS Written Submissions		290		0.00		
	Oral Submissions		290		0.00		
	Attendance at Oral Submissions		290		0.00		
ОТНІ	ER ATTENDANCE Other Attendance		290		0.00		
СОМ	MUNICATION With Client		290		0.00		
	With Other Parties		290		0.00		
МОТ	IONS Preparation of Motion(s) Materials		290		0.00		
	Prepare Submissions on the Motion(s)		290		0.00		
	Attendance at Hearing on Motion(s)		290		0.00		
CON	FIDENTIALITY Preparation of Application for Confidentiality Prepare Submissions on Confidentiality		290 290		0.00		
	Attendance at Hearing on Confidentiality		290		0.00		
DECI	SION Review		290		0.00		
RATE	E ORDER Review		290		0.00		
	Prepare Submission on Rate Order		290		0.00		
TOTA	AL SERVICE PROVIDER FEES  Total Service Provider Fees:	0.20		58.00		0.00	58.00

<u>Attachment</u> <u>Document Type</u> <u>Import Message</u>

MAT57658.pdf Time Docket

Hearings, Consultations, Disbursements Attachments

<u>Attachment Document Type Claim Type Import Message</u>

MAT57658.pdf Time Docket Hearings

## **Matter Billing Guide**

## for Templeman LLP

#### as at 02 Oct 2023

# TEMPLEMAN

## Filtered by Matter - MAT57658

## **Excluding Pre-Bill Items**

Matter No.: MAT57658

Ontario Energy Board / Enbridge Gas

Description: -

Matter Name:

Client: MOHAWKS OF THE BAY OF QUINTE

0.00

Address: 24 MEADOW DRIVE

TYENDINAGA MOHAWK TERRITORY

TYENDINAGA, ON

Att: - K0K 1X0

Client Ref:

Client Tax No.: N/A

**Trust:** 0.00 **Reserve Trust:** 0.00

Investment: 0.00

Last Invoice Date: -

Transfer Notes:

A/R:

Client No.: CNT4160

**Department:** Corporate Commercial

Owner: Harold Van Winssen

Current Owner: Harold Van Winssen

Legacy Ref: -

Date Opened: 28 Mar 23

Fee Schedule: -

Invoice Template: Standard Billing Plan (1)

Discount: 0.00%

Unbilled Fees: 16,657.50

Unbillable Fees: 0.00
Unbilled Disb: 0.00

Unbilled Time: 51.60

Unbillable Time: 0.00

Last Billable Date: 02 Oct 23

Discount Notes:

#### Fee Earner Summary

Code	Fee Earner	Time (hh)	Fees	Write U/D	Notes
7	Harold Van Winssen	20.50	10,147.50		
137	Jennifer G. Savini	0.20	63.00		
300	Kennedy Levesque	0.70	105.00		
295	Nima Chooback	30.20	6,342.00		

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
28 Mar 23	7	BW	Review materials, process re: intervention. Telephone call with Enbridge, email client.	Т	-	495.00	1.10	544.50	0.00	544.50
28 Mar 23	7	BW	Telephone call with client and pull and review submissions etc.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Complete review of intervenors, discuss potential evidence and relevance with client and recommendations regarding offer etc.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Review email and draft letter and telephone call with client to discuss and draft letter of intent. Review and revise letter.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Review new order and respond regarding email and procedural order.	Т	-	495.00	0.30	148.50	0.00	148.50
29 Mar 23	7	BW	Review further materials.	Т	-	495.00	0.10	49.50	0.00	49.50

Client No.:

CNT4160

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Тах	Total Incl
29 Mar 23	7	BW	Review email and Environmental Defence respond and email Mr. Elson.	Т	-	495.00	0.30	148.50	0.00	148.50
29 Mar 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
29 Mar 23	295	BW	Received instructions Re: preparation of internal memo	Т	-	210.00	0.20	42.00	0.00	42.00
30 Mar 23	7	BW	Telephone call with client to discuss issues re: Environmental.	Т	-	495.00	0.40	198.00	0.00	198.00
30 Mar 23	7	BW	Prepare for, participate in call with counsel for Environmental Defences and debrief client.	Т	-	495.00	0.90	445.50	0.00	445.50
31 Mar 23	137	-	Preliminary review and consideration of issues relating to duty to consult and remedies relating to same	Т	-	315.00	0.20	63.00	0.00	63.00
03 Apr 23	295	BW	Preliminary review of legal issue in preparation for legal memo	Т	-	210.00	0.60	126.00	0.00	126.00
04 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
05 Apr 23	7	BW	Review written interrogations of Environment Defence.	T	-	495.00	1.40	693.00	0.00	693.00
05 Apr 23	300	-	Conduct research on the practices and procedures of OEB. Analyze procedural orders and impact on current status and discuss impact with counsel for preparation of legal memo.	T	-	150.00	0.70	105.00	0.00	105.00
05 Apr 23	295	BW	Further research and consideration of procedural options in contesting the relevance of intervenors' objections	T	-	210.00	1.50	315.00	0.00	315.00
06 Apr 23	7	BW	Review procurement options regarding Environmental Defence issue and duty to consult.	T	-	495.00	0.80	396.00	0.00	396.00
06 Apr 23	295	BW	Consideration of forthcoming procedural steps and potential strategies	T	-	210.00	0.50	105.00	0.00	105.00
11 Apr 23	7	BW	Review interrogators documents.	Т	-	495.00	0.30	148.50	0.00	148.50
11 Apr 23	295	BW	Review of interrogation of Pollution Probe	Т	-	210.00	0.30	63.00	0.00	63.00
11 Apr 23	295	-	Review of interrogation of FRPO	Т	-	210.00	0.20	42.00	0.00	42.00
12 Apr 23	7	BW	Review pollution probe interrogation.	Т	-	495.00	0.40	198.00	0.00	198.00
17 Apr 23	7	BW	Review OEB decision.	Т	-	495.00	0.20	99.00	0.00	99.00
20 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
21 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
28 Apr 23	7	BW	Review notice of return from Environmental Deficiencies and review further interrogations and discuss options and possible objection to motion.	Т	-	495.00	0.50	247.50	0.00	247.50
04 May 23	7	BW	Review pollution probe documents.	T	-	495.00	0.10	49.50	0.00	49.50
29 May 23	7	BW	Review latest order and status of interrogations etc.; participate in meeting with client.	T	-	495.00	0.50	247.50	0.00	247.50
08 Jun 23	7	BW	Review request from Environmental Defense.	Т	-	495.00	0.20	99.00	0.00	99.00
28 Jun 23	7	BW	Review latest procedural order and implications; email client.	Т	-	495.00	0.30	148.50	0.00	148.50
10 Jul 23	7	BW	Review further materials and information.	Т	-	495.00	0.30	148.50	0.00	148.50
10 Jul 23	7	BW	Review further order from OEB.	Т	-	495.00	0.10	49.50	0.00	49.50
11 Jul 23	7	BW	Review orders from OEB.	Т	-	495.00	0.20	99.00	0.00	99.00
13 Jul 23	7	BW	Review various emails and options.	Т	-	495.00	0.20	99.00	0.00	99.00
13 Jul 23	7	BW	Review and respond to various email and respond.	Т	-	495.00	0.30	148.50	0.00	148.50
14 Jul 23	7	BW	Review latest procedural issue.	T	-	495.00	0.20	99.00	0.00	99.00

Client No.:

CNT4160

**Unbilled Fees** 

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
19 Jul 23	295	BW	Receiving of instructions on submission preparation	T	-	210.00	0.20	42.00	0.00	42.00
19 Jul 23	295	BW	Review of procedural status and required work.	Т	-	210.00	1.20	252.00	0.00	252.00
19 Jul 23	7	BW	Work on agreements for OEB.	Т	-	495.00	0.50	247.50	0.00	247.50
20 Jul 23	295	BW	Case law research regarding the notice of constitutional question	Т	-	210.00	0.70	147.00	0.00	147.00
20 Jul 23	295	BW	Preparation of material for the notice of constitutional question	Т	-	210.00	0.80	168.00	0.00	168.00
21 Jul 23	295	BW	Research and drafting of submissions	Т	-	210.00	2.50	525.00	0.00	525.00
26 Jul 23	7	BW	Review legal issues re: duty to consult and degree of deference to be paid to duty.	T	-	495.00	1.00	495.00	0.00	495.00
31 Jul 23	7	BW	Review arguments in draft by Enbridge Gas.	Т	-	495.00	1.00	495.00	0.00	495.00
31 Jul 23	7	BW	Work on submissions re: duty to consult.	Т	-	495.00	0.70	346.50	0.00	346.50
31 Jul 23	7	BW	Review issue re: public content.	Т	-	495.00	0.50	247.50	0.00	247.50
31 Jul 23	295	BW	Review of Enbridge argument in chief	Т	-	210.00	0.50	105.00	0.00	105.00
31 Jul 23	295	BW	Continued drafting of submissions	Т	-	210.00	1.60	336.00	0.00	336.00
31 Jul 23	295	BW	Received instructions to revise draft submissions. Further research and drafting for new submissions	T	-	210.00	3.00	630.00	0.00	630.00
01 Aug 23	295	BW	Drafting of submissions continued	Т	-	210.00	4.40	924.00	0.00	924.00
02 Aug 23	7	BW	Work on reply.	Т	-	495.00	1.00	495.00	0.00	495.00
02 Aug 23	295	BW	Revisions to draft submissions per instructions	Т	-	210.00	1.10	231.00	30.03	261.03
08 Aug 23	295	BW	review and editing of MBQ written submissions	Т	-	210.00	0.50	105.00	0.00	105.00
08 Aug 23	7	BW	Work on submission.	Т	-	495.00	0.50	247.50	0.00	247.50
08 Aug 23	7	BW	Review and revise submission.	T	-	495.00	0.20	99.00	0.00	99.00
08 Aug 23	295	BW	Review of Pollution Probe's submissions	T	-	210.00	0.40	84.00	0.00	84.00
09 Aug 23	295	BW	Drafting of cover letter and getting access to eportal to submit	T	-	210.00	0.60	126.00	0.00	126.00
09 Aug 23	295	BW	Finalization of submissions and service on all parties	T	-	210.00	0.40	84.00	0.00	84.00
09 Aug 23	7	BW	Work on submission.	Т	-	495.00	0.80	396.00	0.00	396.00
09 Aug 23	7	BW	Review and revise application; forward to client for review.	T	-	495.00	0.30	148.50	0.00	148.50
09 Aug 23	7	BW	Review and respond to emails from client; amend materials re: submission.	T	-	495.00		148.50	0.00	148.50
09 Aug 23	7	BW	Review staff submission.	T	-	495.00	0.30	148.50	0.00	148.50
09 Aug 23 09 Aug 23	7 295	BW BW	Review and respond to email.  Review and consideration of OEB	T T	-	495.00 210.00		49.50 147.00	0.00	49.50 147.00
			staff submissions.							
20 Sep 23	7	BW	Review further submission.	T _	-	495.00		148.50	0.00	148.50
20 Sep 23	295	BW	Review of additional submissions filed and confirmation of next steps	Т	-	210.00		105.00	0.00	105.00
20 Sep 23	295	BW	Correspondence and coordination with OEB staff and IT regarding submitting of costs through their portal.	Т	-	210.00	1.00	210.00	0.00	210.00
21 Sep 23	7	BW	Review decision and forward to client.	Т	-	495.00	0.30	148.50	0.00	148.50
21 Sep 23	295	BW	Review of Board decision and cost award rules and procedures	Т	-	210.00	1.50	315.00	0.00	315.00
25 Sep 23	7	BW	Review issue re: tax status.	Т	-	495.00	0.20	99.00	0.00	99.00
25 Sep 23	295	BW	Correspondence with client Re: HST designation	Т	-	210.00	0.30	63.00	0.00	63.00

GhostPractice version 14.0.118

 Matter No.:
 MAT57658
 Client No.:
 CNT4160

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
26 Sep 23	295	BW	Confirmation of HST designation and correspondence with the OEB regarding same and training to submit cost claims	Т	-	210.00	0.50	105.00	0.00	105.00
27 Sep 23	295	BW	Review of Environmental Defence's request to set a schedule for submissions in	Т	-	210.00	1.50	315.00	0.00	315.00
29 Sep 23	295	BW	Cost submission training with OEB staff	T	-	210.00	0.70	147.00	0.00	147.00
29 Sep 23	295	BW	Initial work on preparing cost submissions	T	-	210.00	0.80	168.00	0.00	168.00
02 Oct 23	295	BW	Preparation of cost claims	Т	-	210.00	1.50	315.00	0.00	315.00
						Total Unbilled Fees	51.60	16,657.50	30.03	16,687.53

CASE

EB-2022-0248: Facilities: Leave to Construct (New): Enbridge Gas

Inc.

**COST CLAIM** 

EB-2022-0248 : 1 : Nima

Chooback

INTERVENOR NAME

Chooback, Nima; +1 (613)

966-2620

nchooback@tmlegal.ca

PARTICIPANT CLAIM STATUS

Submitted

**FILING PARTICIPANT** 

Levesque, Kennedy; +1 (613) 966-2620 x.2103 klevesque@tmlegal.ca NEW

**PARTICIPANT** 

No

**NON-FILING** 

PARTICIPANT F. NAME

**NON-FILING** 

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE\*

Articling Student/Paralegal

YEAR CALLED TO BAR\*

TEAR GALLED TO BAR

COMPLETED YEARS
PRACTICING/YEARS OF
RELEVANT EXPERIENCE\*

**HOURLY RATE** 

100

**HST RATE CHARGED\*** 

0.00

CV STATUS (FOR CONSULTANT/ANALYST)

CV Required

LAST CV DATE

OVERRIDE HOURLY RATE

No

**HST NUMBER** 

**HEARINGS** 

Yes

**CONSULTATIONS** 

No

DISBURSEMENTS

No

**HEARINGS** 

Hearings Hours 0.70 Hearings Subtotal (\$) 70.00

Hearings Total Tax (\$) 0.00 Hearings Total (\$) 70.00

**HST** Name **Hours Hourly** Sub Total <u>HST</u> Total Rate Rate **REVIEW APPLICATION AND EVIDENCE** Review Application and Evidence 100 0.00 **DISCOVERY** Preparation of Interrogatories 100 0.00 **Review Interrogatory Responses** 100 0.00 0.00 **Technical Conference Preparation** 100 **Technical Conference Attendance** 100 0.00 Technical Conference Follow Up 100 0.00 **ISSUES LIST** 100 0.00 Preparation Attendance at Issues Conference 100 0.00 INTERVENOR EVIDENCE 0.70 Preparation 100 70.00 0.00 70.00 100 0.00 Interrogatory Responses 0.00 Preparation of Witness(es) for Attendance 100 at Hearing **SETTELEMENT CONFERENCE / ADR** Preparation 100 0.00 100 0.00 Attendance

	<u>Name</u>	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
	Preparation of Settlement Proposal		100		0.00		
	Attendance at Presentation to Panel		100		0.00		
ORA	L HEARING Preparation		100		0.00		
	Attendance at Oral Hearing		100		0.00		
SUB	MISSIONS Written Submissions		100		0.00		
	Oral Submissions		100		0.00		
	Attendance at Oral Submissions		100		0.00		
ОТН	ER ATTENDANCE Other Attendance		100		0.00		
СОМ	MUNICATION With Client		100		0.00		
	With Other Parties		100		0.00		
МОТ	IONS  Propagation of Motion(s) Materials		100		0.00		
	Preparation of Motion(s) Materials						
	Prepare Submissions on the Motion(s)		100		0.00		
	Attendance at Hearing on Motion(s)		100		0.00		
CON	FIDENTIALITY Preparation of Application for Confidentiality		100		0.00		
	Prepare Submissions on Confidentiality		100		0.00		
	Attendance at Hearing on Confidentiality		100		0.00		
DEC	SION Review		100		0.00		
RATI	E ORDER Review		100		0.00		
	Prepare Submission on Rate Order		100		0.00		
TOTA	AL SERVICE PROVIDER FEES  Total Service Provider Fees:	0.70		70.00		0.00	70.00

<u>Attachment</u> <u>Document Type</u> <u>Import Message</u>

MAT57658.pdf Time Docket

Hearings, Consultations, Disbursements Attachments

<u>Attachment Document Type Claim Type Import Message</u>

MAT57658.pdf Time Docket Hearings

## **Matter Billing Guide**

## for Templeman LLP

#### as at 02 Oct 2023

# TEMPLEMAN

## Filtered by Matter - MAT57658

## **Excluding Pre-Bill Items**

Matter No.: MAT57658

Ontario Energy Board / Enbridge Gas

Description: -

Matter Name:

Client: MOHAWKS OF THE BAY OF QUINTE

0.00

Address: 24 MEADOW DRIVE

TYENDINAGA MOHAWK TERRITORY

TYENDINAGA, ON

Att: - K0K 1X0

Client Ref:

Client Tax No.: N/A

**Trust:** 0.00 **Reserve Trust:** 0.00

Investment: 0.00

Last Invoice Date: -

Transfer Notes:

A/R:

Client No.: CNT4160

**Department:** Corporate Commercial

Owner: Harold Van Winssen

Current Owner: Harold Van Winssen

Legacy Ref: -

Date Opened: 28 Mar 23

Fee Schedule: -

Invoice Template: Standard Billing Plan (1)

Discount: 0.00%

Unbilled Fees: 16,657.50

Unbillable Fees: 0.00
Unbilled Disb: 0.00

Unbilled Time: 51.60

Unbillable Time: 0.00

Last Billable Date: 02 Oct 23

Discount Notes:

#### Fee Earner Summary

Code	Fee Earner	Time (hh)	Fees	Write U/D	Notes
7	Harold Van Winssen	20.50	10,147.50		
137	Jennifer G. Savini	0.20	63.00		
300	Kennedy Levesque	0.70	105.00		
295	Nima Chooback	30.20	6,342.00		

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
28 Mar 23	7	BW	Review materials, process re: intervention. Telephone call with Enbridge, email client.	Т	-	495.00	1.10	544.50	0.00	544.50
28 Mar 23	7	BW	Telephone call with client and pull and review submissions etc.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Complete review of intervenors, discuss potential evidence and relevance with client and recommendations regarding offer etc.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Review email and draft letter and telephone call with client to discuss and draft letter of intent. Review and revise letter.	Т	-	495.00	1.00	495.00	0.00	495.00
28 Mar 23	7	BW	Review new order and respond regarding email and procedural order.	Т	-	495.00	0.30	148.50	0.00	148.50
29 Mar 23	7	BW	Review further materials.	Т	-	495.00	0.10	49.50	0.00	49.50

Client No.:

CNT4160

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Тах	Total Incl
29 Mar 23	7	BW	Review email and Environmental Defence respond and email Mr. Elson.	Т	-	495.00	0.30	148.50	0.00	148.50
29 Mar 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
29 Mar 23	295	BW	Received instructions Re: preparation of internal memo	T	-	210.00	0.20	42.00	0.00	42.00
30 Mar 23	7	BW	Telephone call with client to discuss issues re: Environmental.	T	-	495.00	0.40	198.00	0.00	198.00
30 Mar 23	7	BW	Prepare for, participate in call with counsel for Environmental Defences and debrief client.	Т	-	495.00	0.90	445.50	0.00	445.50
31 Mar 23	137	-	Preliminary review and consideration of issues relating to duty to consult and remedies relating to same	T	-	315.00	0.20	63.00	0.00	63.00
03 Apr 23	295	BW	Preliminary review of legal issue in preparation for legal memo	Т	-	210.00	0.60	126.00	0.00	126.00
04 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
05 Apr 23	7	BW	Review written interrogations of Environment Defence.	T	-	495.00	1.40	693.00	0.00	693.00
05 Apr 23	300	-	Conduct research on the practices and procedures of OEB. Analyze procedural orders and impact on current status and discuss impact with counsel for preparation of legal memo.	Т	-	150.00	0.70	105.00	0.00	105.00
05 Apr 23	295	BW	Further research and consideration of procedural options in contesting the relevance of intervenors' objections	T	-	210.00	1.50	315.00	0.00	315.00
06 Apr 23	7	BW	Review procurement options regarding Environmental Defence issue and duty to consult.	T	-	495.00	0.80	396.00	0.00	396.00
06 Apr 23	295	BW	Consideration of forthcoming procedural steps and potential strategies	Т	-	210.00	0.50	105.00	0.00	105.00
11 Apr 23	7	BW	Review interrogators documents.	Т	-	495.00	0.30	148.50	0.00	148.50
11 Apr 23	295	BW	Review of interrogation of Pollution Probe	T	-	210.00	0.30	63.00	0.00	63.00
11 Apr 23	295	-	Review of interrogation of FRPO	Т	-	210.00	0.20	42.00	0.00	42.00
12 Apr 23	7	BW	Review pollution probe interrogation.	Т	-	495.00	0.40	198.00	0.00	198.00
17 Apr 23	7	BW	Review OEB decision.	Т	-	495.00	0.20	99.00	0.00	99.00
20 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
21 Apr 23	7	BW	Review and respond to email.	Т	-	495.00	0.10	49.50	0.00	49.50
28 Apr 23	7	BW	Review notice of return from Environmental Deficiencies and review further interrogations and discuss options and possible objection to motion.	Т	-	495.00	0.50	247.50	0.00	247.50
04 May 23	7	BW	Review pollution probe documents.	Т	-	495.00	0.10	49.50	0.00	49.50
29 May 23	7	BW	Review latest order and status of interrogations etc.; participate in meeting with client.	T	-	495.00	0.50	247.50	0.00	247.50
08 Jun 23	7	BW	Review request from Environmental Defense.	Т	-	495.00	0.20	99.00	0.00	99.00
28 Jun 23	7	BW	Review latest procedural order and implications; email client.	Т	-	495.00	0.30	148.50	0.00	148.50
10 Jul 23	7	BW	Review further materials and information.	Т	-	495.00	0.30	148.50	0.00	148.50
10 Jul 23	7	BW	Review further order from OEB.	Т	-	495.00	0.10	49.50	0.00	49.50
11 Jul 23	7	BW	Review orders from OEB.	Т	-	495.00	0.20	99.00	0.00	99.00
13 Jul 23	7	BW	Review various emails and options.	Т	-	495.00	0.20	99.00	0.00	99.00
13 Jul 23	7	BW	Review and respond to various email and respond.	Т	-	495.00	0.30	148.50	0.00	148.50
14 Jul 23	7	BW	Review latest procedural issue.	Т	-	495.00	0.20	99.00	0.00	99.00

Client No.:

CNT4160

**Unbilled Fees** 

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
19 Jul 23	295	BW	Receiving of instructions on submission preparation	Т	-	210.00	0.20	42.00	0.00	42.00
19 Jul 23	295	BW	Review of procedural status and required work.	Т	-	210.00	1.20	252.00	0.00	252.00
19 Jul 23	7	BW	Work on agreements for OEB.	Т	-	495.00	0.50	247.50	0.00	247.50
20 Jul 23	295	BW	Case law research regarding the notice of constitutional question	Т	-	210.00	0.70	147.00	0.00	147.00
20 Jul 23	295	BW	Preparation of material for the notice of constitutional question	Т	-	210.00	0.80	168.00	0.00	168.00
21 Jul 23	295	BW	Research and drafting of submissions	Т	-	210.00	2.50	525.00	0.00	525.00
26 Jul 23	7	BW	Review legal issues re: duty to consult and degree of deference to be paid to duty.	T	-	495.00	1.00	495.00	0.00	495.00
31 Jul 23	7	BW	Review arguments in draft by Enbridge Gas.	Т	-	495.00	1.00	495.00	0.00	495.00
31 Jul 23	7	BW	Work on submissions re: duty to consult.	Т	-	495.00	0.70	346.50	0.00	346.50
31 Jul 23	7	BW	Review issue re: public content.	Т	-	495.00	0.50	247.50	0.00	247.50
31 Jul 23	295	BW	Review of Enbridge argument in chief	Т	-	210.00	0.50	105.00	0.00	105.00
31 Jul 23	295	BW	Continued drafting of submissions	Т	-	210.00	1.60	336.00	0.00	336.00
31 Jul 23	295	BW	Received instructions to revise draft submissions. Further research and drafting for new submissions	T	-	210.00	3.00	630.00	0.00	630.00
01 Aug 23	295	BW	Drafting of submissions continued	Т	-	210.00	4.40	924.00	0.00	924.00
02 Aug 23	7	BW	Work on reply.	Т	-	495.00	1.00	495.00	0.00	495.00
02 Aug 23	295	BW	Revisions to draft submissions per instructions	Т	-	210.00	1.10	231.00	30.03	261.03
08 Aug 23	295	BW	review and editing of MBQ written submissions	Т	-	210.00	0.50	105.00	0.00	105.00
08 Aug 23	7	BW	Work on submission.	Т	-	495.00	0.50	247.50	0.00	247.50
08 Aug 23	7	BW	Review and revise submission.	Т	-	495.00	0.20	99.00	0.00	99.00
08 Aug 23	295	BW	Review of Pollution Probe's submissions	Т	-	210.00	0.40	84.00	0.00	84.00
09 Aug 23	295	BW	Drafting of cover letter and getting access to eportal to submit	Т	-	210.00	0.60	126.00	0.00	126.00
09 Aug 23	295	BW	Finalization of submissions and service on all parties	Т	-	210.00	0.40	84.00	0.00	84.00
09 Aug 23	7	BW	Work on submission.	Т	-	495.00	0.80	396.00	0.00	396.00
09 Aug 23	7	BW	Review and revise application; forward to client for review.	Т	-	495.00	0.30	148.50	0.00	148.50
09 Aug 23	7	BW	Review and respond to emails from client; amend materials re: submission.	Т	-	495.00		148.50	0.00	148.50
09 Aug 23	7	BW	Review staff submission.	Т	-	495.00		148.50	0.00	148.50
09 Aug 23 09 Aug 23	7 295	BW BW	Review and respond to email.  Review and consideration of OEB	T T	-	495.00 210.00		49.50 147.00	0.00	49.50 147.00
	_	514	staff submissions.	_		40.5.00		440.50		
20 Sep 23	7	BW	Review further submission.	Т	-	495.00		148.50	0.00	148.50
20 Sep 23	295	BW	Review of additional submissions filed and confirmation of next steps	Т	-	210.00		105.00	0.00	105.00
20 Sep 23	295	BW	Correspondence and coordination with OEB staff and IT regarding submitting of costs through their portal.	Т	-	210.00	1.00	210.00	0.00	210.00
21 Sep 23	7	BW	Review decision and forward to client.	Т	-	495.00	0.30	148.50	0.00	148.50
21 Sep 23	295	BW	Review of Board decision and cost award rules and procedures	Т	-	210.00	1.50	315.00	0.00	315.00
25 Sep 23	7	BW	Review issue re: tax status.	Т	-	495.00	0.20	99.00	0.00	99.00
25 Sep 23	295	BW	Correspondence with client Re: HST designation	Т	-	210.00	0.30	63.00	0.00	63.00

GhostPractice version 14.0.118

 Matter No.:
 MAT57658
 Client No.:
 CNT4160

Date	FE	Activity	Description	Unit Type	Expl Code	Rate/Unit	Time (hh)	Amount	Tax	Total Incl
26 Sep 23	295	BW	Confirmation of HST designation and correspondence with the OEB regarding same and training to submit cost claims	Т	-	210.00	0.50	105.00	0.00	105.00
27 Sep 23	295	BW	Review of Environmental Defence's request to set a schedule for submissions in	Т	-	210.00	1.50	315.00	0.00	315.00
29 Sep 23	295	BW	Cost submission training with OEB staff	T	-	210.00	0.70	147.00	0.00	147.00
29 Sep 23	295	BW	Initial work on preparing cost submissions	T	-	210.00	0.80	168.00	0.00	168.00
02 Oct 23	295	BW	Preparation of cost claims	Т	-	210.00	1.50	315.00	0.00	315.00
						Total Unbilled Fees	51.60	16,657.50	30.03	16,687.53